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Bok North Summer Reading- 2024-2025

‘Bok flcademy, North Students,

This summer you will be expected to read at least TWO CHOICE
books in order to prepare for your 2024-2025 school year at
Edward W. Bok Academy, North. I would like you to read one
GENRE CHALLENGE book, one LEXILE CHALLENGE book.

« WHAT IS A GENRE CHALLENGE BOOK?

A genre challenge book is a book that is outside of your normal reading

genre. If you normally read FANTASY books, then try a new genre
like
HISTORICAL FICTION or SCIENCE FICTION.

o WHAT IS A LEXILE CHALLENGE BOOK?

A lexile challenge book, is a book that is above your reading level. You should
find a book that has a lexile of about 975-1100.

You can find the lexile of most books at www.lexile.com.

For each book respond to the following questions:
< What were your favorite parts and why?
% What parts would you have changed and why?
< What connections did you make to the characters, setting, or events?
< If you could talk to the author, what questions would you ask?

*All assignments are due the first day of the 2024-2025 school year.




Summer Reading Response Rubric

Category 4 3 2 1
Content Student wrote a Student wrote a | Student wrote a The writing is
detailed response response about | response about | missing several
about the book. the book, but the book, but elements.
Explained their was missing an was missing
favorite parts, what element. more than one
they would change, element.
connections they
made, and what
they would ask the
author.
Convention | Response contains Response Response Errors in
3 1-2 errors in contains 3-4 contains 5-6 capitalization,
capitalization, errors in errors in punctuation,
punctuation, and capitalization, capitalization, and sentence
sentence structure. | punctuation, and | punctuation, and structure
sentence sentence distract the
structure. structure. reader.
Visual Student created a Student created | Student created Drawing is
visual representing a visual a visual incomplete.

something from the

book. The artwork is

carefully and neatly
done.

representing
something from
the book. Lacks
some neatness
or effort.

representing
something from
the book. Lacks
neatness or
effort.




Students & families of Edward W. Bok Academy North,

This letter is to explain what is expected of you to complete during the Summer to ensure that we are
staying relevant with our standards in math and reading. Please make sure you read through this entire
letter to understand the expectations.

The math packet that is attached is for all grades levels. The skills presented in the packet are a review of
basic number sense to prepare you for your level of math that you will be taking for the 2024-2025 school
year. You can complete the packet the following ways: paper/pencil (this option entails you to print out
the packet from your home computer OR pick up your packet from the front office). If you do NOT have
access to a printer at your house and can’t pick up a packet at the school, then you may view the packet
and work out the problems on notebook paper and bring in the packet to your 2024-2025 math teacher
upon returning to school.

Again, your packets are NOT an option, but an EXPECTATION, so we can be prepared for the upcoming
school year and achieve the BOK WAY.

Thank you in advance,

Math Department



Represent each number below as fwo differert procucts, The f

rs has been dore For you as or example.

=
m 0.50=5x10 b.120= ¢.84= d.175= e.1,000=
" 2x25
w
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o
w
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Shade inany rec‘angle that has a value greatar than 25. Beckef" went fo two different stores af the mal. He purchased
a$36 hat af the Frsf store and o $52 pair of shoss at the
second. Beckett estimates *hat he spent o i less than §80
12412 fofal. Is Beckeft's estimate reasonaole? Explain your thinking,
6(5) §7-81
w
¢ L
L E
. 0
5 100+3 93 w
v
16+6
Reagan and her fwo sisters have 30 minures fo play on a fablef | | Use the digits 1,2, 3 and 4 fo fill in cch rectangle in order fo
and their mom instructed them fo splt 17 fime evenly. The oraate the sum closest o 50. Each digit may only be used once.
sifuation can be represented by the equafior 30+ 3= 10, w
t | Describe what 10 represents in fhe sifucrion. b
14 L
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Fillin each line so that each addifion statement has o sumcf | | Solve o-d. Then, record the leffers in ascending order according
30. Once a number hos been used on a ling, it cannot be to their solutions.
Used again,
W + =3 o.mx:.m+$n|
2 e
0 ; b.21+7+29=
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m + + =)0 [ o.::moL:n
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0 9=
& d.16x3-3
o
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Ashiey and Jessica mulfipied 406 x 4 bu' got two differert products as shown below. Describe which studert made an error,
u Ashley Jessica
z 1 2
ol 406 x§
W § 4
0 -
1804 1624
Keith wrote the fallowing on the board: Mr. Bradley has 304 sfudenfs that he needs fo separate info 15
groups for a field frip. Zstimate the approximate number of
“4i6=d6" students that wil be in each group.
w
> =
._.m Is he corres? Why or why net? Wh
") -
2 n
K W




Fillout the fatle by muliolying each value by 2 ard then oy
2.

Use the cards below fo complere the blanks and make a frue
sfatement. Each card can only be used once.

DESCRIBE

Label each statemert helow as frue or false.

a. The opposife of -511s 51,

b, 16 i3 chser fo zero than - 16.

¢. A number anc its opposite are the same
distarce from zero on a number fine.

fuct

Create an irfeger that could be used fo represent eccn s
below.

a. Kevir owes his brother §17,

fted $158 info her bank account,

b. Alyssa depos

¢. James made a orofit of §275 seling snow
cores over fhe weekend.

o

ORDER

Tha cards oglow fist the current femperarure in five
different ciies. List the cities inorder from coldest fo
warmest femparature,

Flagstaff
0°F

Erie
BF

Buffalo
LF

COMPARE

Fill 'neqch stafement with the correct inequality symbol (< or ) in order fo make the sfatement frue.

.38 __ 1

x2 x20
H | EEE
; :
o 3 0
¢ 2
v W 0 52+28> 10+
n 5 d
u 0
a 0
12 K
o b <24+
Describe any petferns you notice:
¢ 73+26=_ +J]
{
Garmen wanfs fo build a rectangular garden with o fofal area of 100 square "eef, Label the rectangles with hree different possible
sefs of dimensions that she could choose.
=
yA
m
n
W
14
o
W
14
Justice believes fet  she multiolies any number by 2, tre Amela earned §16 baysitting yesterday. Place o point on the
resufing product will always be an even number. Is fer number [ ne fo represent fhis value,
fhinking correct? Exglain.
* 14
v w
F 0 1 1| 1
] - I I —
2 0
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Armani plotted a paint on the number ing that is greater than - 10 buf less t1an -6. Which point below could be hers?

" AB 0D E
m _ + | + _ | | |
0 _ _ T
14
0 -15 2 9 b 3 0
Joke and his fr'ends are ploying a came, and the person who 0. The number 6 is 7 units away from 13 on a number line,
scores closest 70 0 wins. According fo the scores listed helow, who Which ofher integer is 7 units away from 6 on @
is the wimner? number fine?
“ NAVE | SCORE
) e | 4
3 W
0 Kevi 4 A _
v : 0 | 0. Which two infegers are 10 units away from 5 on g
Lns 2 W1 number fine? Draw a picture if nesded.
M | m
o
1]
List 3 different fypes of reakworld stuations that woulc be m
represented by negetive infegers. [y _ . _
u F Y ; ¢, Starting of -7 ¢n ¢ number ine, Darcy moved 4 units fo
¢ fhe right. Whet infeger did Darcy land on?
x
w
4]
{
Circe frue or false for each staterment below. If a starement is false, explain your reasoning in the space undereath.
3 @ B5= s 3+05 0075203+ 07 405
w , 7
S Irueor foe True or False?
f
14

\ly

-
~

Write an equofion and sclufion for the infeger addirion Cross through the card that should be eliminated so that fhe
represented by the counfers below. remaining cords ave a sum of -1,
w
: 00000 :
Z 0
" 00000 o025 8
: :
Ll B
[ O m
- FOSTIE L
02§§
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Fillin each rectange with <, > or = in order fo make the Writs an equation fo represent the situation:
staterent frue.
‘Bloke awed his sister §35. He gava her o §20 4l 0
010+ mD 10+ E now he only owes her §.
¥ o
b4 (- A4 -
m b3 ASE Y :g m Create o reakwarlc sifuation that could be represened by the
w 5 equation -4+ (-25) =-39,
y os;gms:@ 0
0425 | | 254(5)
Tanya and Raven are ecch eating a chocoate bar, Tarya hos eaten 65% of her chocolate bar. The porfion that Raven hes ecfen is
represenfed by the shaded part of the fraction bar helow. Wha nas the grectest porion of her chosolare bar remaining? Exglain
3o reasoning,
u
>
w
14




Fillin each blank with “some

mes’, “always” o= ‘never” in order fo make the statemen frue.

u 0. Apositive ‘nteger combined with a postiv infeger wi fiave ¢ sum that Is negafive.
14
x b. A negefive integer corrbired with g posttive infeger wi nave a sum thet is less than zera.
W
0 ¢. A regative integer combinec with a negaive infeger wi have a sum that is negafive.
a. How'e belisves that -27 + 13 =-13 - 27.Is this frus? Why or 3rianne and her sister Joy both starfed the month with
why not? negative bolances in their bank cocounts. Each s'ster has
made two deposts since the beginn'ng of the monih as
showr.
o
m BRIANNA'S ACCOUNT JOY'§ ACCOUNT
m b, Jacobi believes rat -6+ 22 = 22 - 19, s this frue? Why Starting Balance:-$120 Storting Balance:-§90
=S| orwhynot? ; :
“ Depost 1: §75 Depost 1: §23
ST1 eposit2 862 Depost 2: 47
2
0
wl _ v After the two deposits, which sister has the grectest armount
w Circla the two infegers that would have a sum closest fo-20. inher bark dccount?
;
oo
M
J
(1]
¢
b {
Keirh acded 12.5+ 8.6 on the paper of the right helow.
3 12.5
AL Is Keith's solufion reasonable? Why or why nof? +
N 8.6
f ir Keiy
& b, Explair Keirh's error., 985 |

E.- 5

Hork cnal Tim cre going on a hike. Harik is s‘orfing af an Circle all the exprassions fhat have  valug less than - 0.
cfitude of 126 feef below sea level and Timis of an affifuds 33
feat higher than Hank. The situerion can be represented with
ujmggaim? j v 0.9+-1 415+ (30)
z -126+33=-93 m
U 2l baep A4
5mxg%,%g.ggzmwg_w_iji_gg_g_ m b 26+ f ’
o 14428 1344
Fillin each of he rectangles with adigit -5 in order fo moke Draw counters fo represent the expression 3 + (-6). Tren, find
g equat on frue. Each digit con orly be used once. fhe sum.
of oL +10=15
2 -
o b [fer(a)= z
]
FM_h W
S IS UERE :
0 :
¢ g50+22=- 8 e
0= rosme
o 40+ [[J3 =7
o NEGATIVE
0
Label each point on the number fine with the [etter fhat s the closest approximate value,
A-11
AR I tot ool 1 1o
S 085 M I B
z _ FLEL N S !
D. 62 § [ 42 4 4




[sabele is going fo rewirite each subtract

on staterment os an addition statemert by “adcing the opposita”, She has comaleted the first

staterent so for. Help her represert the remainrg subtraction statements as addtion stafements.

Vitchell storfs with o negefive value and subteacts a negative velue,
s 1t possible for his solufion fo be o posifive valus? Explain,

Rewrite the subfraction statement 5 - (4) os an adoftion
stefement, Then, draw couners fo represent the solufion,

d. A negative number mirus o pos tive number wil
abways result in a negafive difference.

=
Z
m 0 51 b2~ (19 6810 d-15- 1) 8351
Bl S
m -
14
Inc-d, Find ecch oifference, Then, record fhe leffers in For each situation, write and solve an equation fo find the
descending order acoording fo their dlfferences. missing information.
0. The lowest femperature yestarday wos -4° F, and the
0.d6-46=__ o-l5-(2=___ w highest femeerate was 16° F. What was the difference in
o | fhe high and low femperafures yesterday?
¢ ’
0 3
Qlb-1-15=__ dh-fg=_ |8
o
0 (0 | b. Shawn has 42 ooints on his computer game, He loses the
01 e oung though which takes away 50 points. How
14 _
Q| rmany fofo points doss Shawn now hava?
Lokl each sfaterant below as frue or false. Use the fraction hars below fo sficce the addtion stafement
o
Wionfoz++.
0.9-51s the same o 9 + (5] ey Y
w
8 o _ 3
2 b, -0-615 the same as 10+ (-6 f
; U |1 t
U ¢. A negative number mirus o negative number wi w
, L 14
0 always resultin g posifive difference.
,,:\

3

7
f :
= , _ - w
% lioma starfs with o negafive valus and subtracts a positive value. |
= | [sif possible for her solufior fo be o positive value? Explain, @ KEY
14
Q) -roumee
- eomie
our students suaracted nfegers below by aoding the opposite. Circle the work of the student who made an errar, Then, describe
The erear, _ _ .
Som Calle Nick Jamori
w
: 1513 2-50 3-19 -1t
m B4y 6+ 50) $+149) 0+2)
0 08 24 7 g
In each rectangle with the digits 1,2, 3 and 4 inany order fo Jen has a aositive amount of money in her bank acoourt., f
create o ofference of -46. Each digit may only be used once. s ks e curent e anc il oy w vilthe
m account balance gef larger or smaler? Explain,
a
w ;
2 . - . S
y f
(i} 14
0
14
o




A sciertist weigfs five diferent subsfances and records each
we ght in the fable below.

Claudia believes the model rearesents 0.03 while Jus
belizves it represents 0.3, Who is correct? Explain,

fice

Assume each gridl regresents ong whole. Shade a reoresentafion | | List three decimal values ess than € bt greater than §;
of each decimel.
R ! )
005 03
m List three decimal values osfween 2.5 and 26:
S
yA
w
S ! )
w
14
w Gragory stotes that 5,256 = 3 + 0.2+ 0.05 + 0,006 [s this
14 frue or false? Explain,
>
L
.
"
J
A
y Circle cmy decimat that has @ value greater faan m_
14 -
000 op 34 0412 05 05
5
U o5 o5 0 056 TRRLE
Starting with zero, court by % fofillin ecch missing blank.
©‘||~||~|~||~|_|,|_||‘||_|‘|~|
3
v
AT "
w | Describs any patterns thet you notice:
14

SUBSTANCE | WEIGHT (o)
A b2
B b
¢ f
4] 0 602 _m
14
0 ) 112 2
; 6.001
Recorc the letfer of the substarces inorder from least fo
greatest according fo their weight:
Ayssaranfive feaths of a rril2 end her brother ran forty-Tive Represent each decimal in on expanded Form. The first is
huncreaths of o mile, Who ron the longest distance? dore for you ¢s an example,
4 AR AR AR
w
m Which s greater: one-hundrecth or one-thousandth? Expla. 5 19:
2 t
0 o | 5.0%:
v el o
0875:
25,62:
Assume each shape below represerts ong whole. Shads 60% o™ each shape.
a b ¢
3
u
>
f
14




Use the gric to shade a representation of (.2 + 0.03,

Lincoln had 7.8 inches of rope end Found another 6.35 inches
of rope ir his work shad. The work below shows how he

Shade the column with the greatest ‘ofal sum,

Oraw a line cornect

113 6061 problem o

solutions will be used.

fs soluf

on, \et allof e

¢. The resulfing product cannof be less than 0.

calculeted the fofal inches of rope *hat ha hed, Did he calculefe 94
fhe amount correctly? Explein your thinkirg, w
- 05 | 035 | 145 2 15240789 07l
yA N " 0
m f m s 09
W - a 5112510, :
y w 8 L5 | 126 [ 046 i 1305495
L 2 0 @ 14
c 03 08|06 ¢
C 307+201 8
225
J
Solve each addition problem. Ther, order fhe leffers from least | | Camille and her friend Janie went fo o coffez shop. Camill Micahis on a game show where he must pick thrae squares from a grid. Each
fo greatest according fo their solutions. bought alatfe and Janie bought a cappuccino anc @ muffn M { square il reveal o decima, and he sum of the tree decimals camot exceed 101 8
vl i ? [ i Wi a8 deo icah oi own. Did Mi "
0 500447 b 104175 Fow much money cfc the girls spend afogettier w ,U_ﬁ_%loﬁ z__c,%o gig?m decimls that Micah picked are shown. Dic Mica
m o | winthe came? Explar,
a_ [EM | FRICE m 195
m AT 3
¢ W1 Coppuccino | $3.50 m 475
Of  c138+03 ¢73459 | 0
0f|fsty | §L95 il
14
Q|| Egg Sondwich | $2.95 Use the gric "o represent the sum of 0.85 ond 0.1 Salve each prodlem helow. Then, describe any pafferas you nofice.
a == m.IH @.IH
{ - 3 3 3
Xavier starts with the in'eger - 10 and mulfiplies it by o negafive infeger. Merk the stcfements below as frug or felss. If fclse, explain ﬁ m a I w ! I
WAy fo e right of the statement, “ S ‘ 3 (@.m- i 3 —
W a. The resulfing product comnof be grecter “han-10. w m
w b. The resulfing product must be greafer than 0. .
14 W, Wy,




Heather has lobled the numerctor and denominafor of the Shade 2/3 of ecch shaos below. Fillin sach rumercfor or denominafor with a digi that creates Tia needs ‘o dererming which frection below is greater.
Frcction shown; an improper fraction, 7
numerator — w v L
m 2 b 12
w Q— denominator - 0 o| | _
a w s 7 3 z Descriae one way that Tia can compare the fwo Fractions:
0
mogsgmsg:g%gssggﬁgawgg__ w w - = m
i z : 15 ! s
4] “ 0 4]
Descrbe what the numerctor represenfs; m
m The circes below éamm@ a stack of coins tha Jarome Circeary Fracfonhl s  vole ks %
Draw o poirt on ecch rumber fing fo show the approxmats locetion of 7 drosped on the grounc. If moﬁ he coins anded heads up,
shade the number of ceing that landed heads up. m : H
R T L] L1 ] b u o 8
" T T 1 1] m ;
[}
0 o 05 02 05 08 ¢ 3 ;
d 00000 ff 50
t v 5 -
/ g
9
Which of the following is a frug staremert? Shade any rectangle that has o value of - 10,
Use "he medels ozlow fo shad 0.25 erd 0.3, Then, circle fhe greater valie,
. D_K ivw S| 82 | 0-3 J
¢ 3
q f 3
s > u
2 f StC4) | 100 | 16-26 -
w OWAP QWVW « w
1 BENSE! [
S0:08)| 941 | 47 ;




